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28.8.2; 73a (0122200 70 3971 Pwnn) > 74b (72108 2172 RTIDN 137IDR KD)

I Suggested solution to maywn in our mwn -

a

b

solutionl: pull one out and, employing a1, claim that it is w18 X110 (valid 127p)
i block: by pulling it out, we make it yap-> like 50/50 ("n7 n¥nn Yy nx¥NNI Y1apn 92)
solution2: direct the animals to scatter, in which case it is not definitionally »1ap
i answer (¥27):it is a precaution against a case of many B’ coming at one time, each taking one of the animals
1 explanation: in that case, we can’t employ w"a7 %3 and define by a1, as one of them certainly has 1o’
2 challenge (one of the students to 837): if so, why is the pot (in which the 1R are kept before n1vopn) Mor?
(a) Explanation: after they were Y01 by being w9, do they now become 7708 again when mixed?
3 Answer: the concern is that many o172 may come at the same time and take 1"1/R — certainly some are 7ox
(a) Challenge: that many p»n3 cannot possibly take p11mx at the same time (logistics)
4 Rather: the reason for the prohibition is a »12p DN 17’1 - to avoid a 1ap circumstance, where it’d be 71ox

II  Discussion: %1 of a 129p which has been rejected 112771 (building off of X17's assessment that our mwn is y1ap own n)

a

N27. 10 MXI
i Challenge: ruling if g0 mron and 9yn Mm%y got mixed, all should (n%nnaY) die
1 But if: the 10> went ahead and offered them, e.g. “up” — %2 are accepted (%2 were m»y)
2 Explanation: even though there is an 12277 1Y0°R to offer them, they are accepted Tay»1a
ii  Answer: our mwn follows approach that yn71 ©»*n *9y3; that ruling follow approach that they are not (until nvomw)
1 Challenge: even pomnw, which all agree have »nT; yet 8™ rules that if a n”pa got mixed with n9w2 and one
head was put on the nam, all heads may be brought — we assume the first was the o 5ya
(a) Answer: 8" accepts »1x¥nn 130’s ruling that there is no »n7 at all — even during o7h nTay (“...0132 7 7aR”)

III Discussion: assigning lost member of a n1y1yn to be the pollutant

a

(27 bw2) 277, if a ring of 1"y got mixed with many similar rings, all 17ox; but if one fell out (nYnn ©%) — all 1Mmn
i Reason: we assume that the one that fell out is the 1"y-ring
ii ~ Challenge (N¥27): our mwn — if this is the case, why not assume that the first animal to die was the nnn nxron?
iii  Defense (179): 11 was following 8™ (above) — if a D Yya got mixed with other n119p and (inadvertently), one of
the heads was put on nam, all others may come up
1 Challenge: (n79 12) YR "1 reported that 8’s ruling was only valid if they brought the heads up 2 at a time
2 Answer (17): indeed, the permission to take/sell the rings is only if 2 are taken at a time
(a) Reason: in that way, there is certainly a permissible ring (at least one) in the pair
27.if a 1”p Y» nyav got mixed in with 100 rings — all 77oR
i If: the group was then split into 60 and 40 — if one fell from the 60, it prohibits new mix, but not from 40
1 Challenge: reason for 40 is that we assign Mo’ to majority (60); but then it should belong to 59, not 1
2 Rather: 27's ruling was that the 40, as a group, do not prohibit another group; the 60 do prohibit na1yyna
Sx810w. this should not apply to 1"y, as we are very stringent (X9 pav 1°aR)
i challenge: ruling that Rp*a0 pav is permitted — even if the MoK is "y
ii  defense: it’s a dispute — w™/nMi’ "7 — re: WRYI ,NYIY etc. —
1 /77 77 no 7023, even if one unit from nayyn falls into 27 group etc.; ¥ permits Rp2av pav
2 Challenge: YR1nWv’s position is like neither (neither distinguishes between other o 1o°r and 1y)
3 Answer: YR1nW accepts "M’ ’7’s ruling — but only re: 1y
iii ~Revisiting w"7's lenient ruling: he ruled that if it fell into a lot, then 1 fell into 3 — then fell out, 91mn
1 Question: why does the second nayyn have to have 3? Should need 2 (2172 5021)
2 Answerl: “3” refers to the 2 plus the “fallen” one
3 Answer2: he holds like (1"y1) 8”1 who allows “throwing the nXin away” to permit a navwn (need 3+1)
57 if 1 barrel of nmn fell into 100 — and one fell out (nYnn oY) — all are permitted; we assume nn1n fell out
i Justification: if we only had 1”7’s ruling, ®X”1o since 1y has no pvnn, we allow —but not nnyIn
1 And if: we only had 5™, R*10 it applies to a barrel, where its space is visible; not true about one ring
(a) Explanation: we would have reason to think that we should not permit as precaution against non-falling
ii 737 9" only permitted a barrel (visible), but not if a single figs (of nmAn) fell into 100 (then one fell out)
iii  9or 375" even permitted if it was 1 fig into 100 — just like it prohibits by falling
~77.if 1 barrel of nmn fell into 100 — he may open 1 and separate 1/100 and drink the rest
i Challenge (179): this isn’t permissible n%'nn35 (challenges "1 "7’s report of X" 's ruling)
ii  Rather: if one of them was opened, he may seprate per ratio and drink the rest
»wwin 1. if 1 barrel fell into 150 and 100 got opened, we don’t permit the 50 (i.e. we don’t employ %91 R1172 RMOIR)
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